asym_usl/ppm {ok_cut} asym_usr/ppm {ok_cut]} asym_usl/ppm:asym_usr/ppm {ok_cut}

900 ht |||p - ht I“p i
: c 800 c 6000 —
800 - I
- | 700 . I
700 : Entries 26455 - Entries 26455 4000 B
- 600 - i
600 — B 2000 —
: Mean 7.749 500 Mean —20.94 i
500 — - -
B B 00—
- 400 — ~
400 — B u
- Std Dev 1656 _ Std Dev 1805 B
300 300 ~2000
200 — 200~ ~4000—
100 100~ I
- : ~6000 —
0_I|J..—|JI|III|III|III|III| I|I o_lll I|III|III|III|III|II||II _II|III|III|III|III|III|III|I
-6000 —-4000 -2000 0 2000 4000 6000 —-6000 —4000 —-2000 0 2000 4000 6000 —-6000 —-4000 -2000 0 2000 4000 6000
asym_usl/ppm asym_usr/ppm asym_usr/ppm
(asym_usl/ppm-asym_usr/ppm)/2 {ok cut} (asym_usl/ppm+asym_usr/ppm)/2 {ok cut} asym_usl/ppm:asym_usr/ppm {ok cut}
htemp | htemp - htemp
— 800__ 4000 —
1200 : i
i - - Entries 26455
i Entries 26455 700~ Entries 26455 i
B - 2000 [
1000 - so0r- I L
B - i L | Mean —-20.94
- Mean 14.34 - Mean ~6.593 o
800 500 N
- - i - Mean 7.74
- 400 - i Y ]
600 — Std Dev  661.9 - Std Dev 1601 I -
B __ o | _|_+++++
) 300 : 2000 I k | Jr++++ Std Dev 1805
400 - 0 + M
B 200 — i ﬂ[ J( f
- B B EE Std Dev 1656
200_ 100 - 4000_ Lt y
0_I|IIII|II III|IIII|IIII|III II|IIII 0:I|I III|III|III|III i III|III|III|III|III|III|II
—-4000 -3000-2000-1000 O 1000 2000 3000 4000 -6000 -4000 -2000 2000 4000 5000 —EUDO -4000 -2000 O 2000 4000 6000

- 000~upstreamLR ratecﬁédk“*aﬁwm "Ppostpan.png




1000

800

600

400

200

1000

800

600

400

200

0

I‘UI1

asym_dsl/ppm {ok_cut}

IIII|IIII|IIII|IIII.-I—._LII|

h;[emp

Entries 26455

Mean -1.363

Std Dev 328.7

-1500 -1000 -500

°00 1000 1500

asym_dsl/ppm

(asym_dsl/ppm-asym_dsr/ppm)/2 {ok cut}

ntemp

Entries 26455

Mean —0.9233

Std Dev 251

—500

500 1000

1000

800

600

400

200

0

1000

800

600

400

200

59 W’“”ﬁbWﬁ’Stream

asym_dsr/ppm {ok_

cut)

ntemp

B Entries 26455
__ Mean 0.4833
B Std Dev  379.9
_I |J_ | I | | I | I I | | | I | | | |
—1500 —-1000 -500 1000 1500
asym_dsr/ppm
(asym_dsl/ppm+asym_dsr/ppm)/2 {ok cut}
I Entries 26455
: Mean -0.44
- Std Dev 251.4

—500

500 1 000

asym_dsl/ppm:asym_dsr/ppm {ok_cut}

1500

1000

500

—-500

—1000

—1500

—1 500 -1000 -500 0 500

1000 1500
asym_dsr/ppm

asym_dsl/ppm:asym_dsr/ppm {ok cut}

400 —

200 —

htemp

ﬂﬂw++*+*++++*+++++++H+++++H+++H -

Entries 26455

Mean 0.4833

Meany  —1.363

i Std Dev 379.9
-200—
i Std Devy 328.7
—400
| | [ 1 1 | | [ 1 1 1 | [ 1 1 | | [ 1 1 1 | [ 1 1 | | [ I | [ 1
-1500 —-1000 -500 500 1000 1500

rat@ﬁl“i@ck‘“f’ﬁw - postpan. png




1000

800

600

400

200

1000

800

600

400

200

reg_asym_usl/ppm {o

II|L |IIII|IIII|IIII|III

K_cut}

htemp

Entries 26455
Mean 18.89
Std Dev 797.3

-3000 -2000 -1000 O

1000 2000 3000 4000

reg_asym_usl/ppm

(reqg_asym_usl/ppm-reg_asym_usr/ppm)/2 {ok_cut}

II_L|

htemp

Entries 26455
Mean 15.19
Std Dev 561.1

|_III

-2000 1000

1000

run6359 000" “upstreamLR ratech

2000

reg_asym_usr/ppm {ok_cut}

1200 —

1000

800—

600 —

400—

200—

DIII

htemp

Entries 26455
Mean -11.49
Std Dev 799.2

-3000-2000-1000 O

1000 EDDD 3000 4000
reg_asym_usr/ppm

(reg_asym_usl/ppm-reg_asym_usr/ppm)/2:Entry$ {ok_cut}

® ®
B WO ® ®
EUUUT'S 8 W 8 § E EKKKM o KK b
1R T xR SN
1000+ |
—1000 I
- %gé %xéxﬁ oM § 2
—2000+ ¥ % W X
_ o ¥
I 3 3
L 111 | L 111 | L 111 | | | | | | | L 11
0 5000 10000 150D BSUDD

4000

3000

2000

1000

-1000

-2000

-3000

1000

800

600

400

200

reg_asym_usl/ppm:reg_asym_usr/ppm {ok_cut}

|IIII|II
000 -1000 0 1000 2000 3000 4000
reg_asym_usr/ppm

(reg_asym_usl/ppm+reg_asym_usr/ppm)/2 {ok_cut}

reg_asym_usl/ppm:reg_asym_usr/ppm {ok_cut}

Entries 26455

Mean 3.698

Std Dev 567.8
| I l | | | | L 1 1 | | I I | | | L | 1 1
2000 -1000 1000 2000

K Fea postpan. prg: = wm:

2 | ndf 35.34 /35
p0 19.02 + 5.01
pi 0.009934 + 0.007133 =
500 | + }
- 1, + 1
0 — -| ”HJ’H#WFF e T FF|++J[HHH -
500 }[ -
~1000F
~1500F _
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
000-2000-1000 0O 1000 2000 3000 4000
(reg_asym_usl/ppm+reg_asym_usrppm)/2:Entry$ {ok_cut}
Eﬂﬂﬂgﬁ X i gxxx " % x gx i
B T T8 xpraxr Trd- §§§
1000 T

L0 1
: I :
I —
I | B
[ 07}
I —
T}
101

~1000 _
EESSIENES NI N
—2000F e ~ ~
| x
et
_I 11 | | | | | | | 1 | 1 | ] | 11
0 5000 10000 1500 EEDDD 5DDD




1000

800

600

400

200

1000

800

600

400

200

reg_asym_dsl/ppm {ok_cut}

II|IJII

IIII|IIII|IIII|III _LI|

Entries 26455
Mean -1.325
Std Dev 328.6

-1500 -1000

-500

0

500 1000 1500
reg_asym_dsl/ppm

(reqg_asym_dsl/ppm-reg_asym_dsr/ppm)/2 {ok_cut}

htemp

Entries 26455
Mean -0.9025
Std Dev 250.9

—1DDD —5DD

5DD 1DDD

1000

800

600

400

200

1000

500

-500

-1000

reg_asym_dsr/ppm {ok_cut}

- htemp

Entries

Std Dev

26455

Mean 0.48

379.8

I|I IIII|IIII|IIII|IIII I_|II

-1500 -1000 -500 0 500 1000 1500
reg_asym_dsr/ppm

(reg_asym_dsl/ppm-reg_asym_dsr/ppm)/2:Entry$ {ok_cut}

[ 0 1
|
I |
I I
: T
17 1
17 1
10}
[

g
A M
U

e

- -

A4
K‘K’Ki

}{

0 5000 10000 15000 20000 2 DDD

run6359 ﬂ‘“’Oﬁ@”ﬂt‘)Wﬁ’StreamLR rateche k req postpaﬁ ﬁ"ﬁg"”eg sy o)’

1500

1000

500

-500

-1000

-1500

1000

800

600

400

200

reg_asym_dsl/ppm:reg_asym_dsr/ppm {ok_cut}

—1500

-1000 -500

0

500 1000 1500

reg_asym_dsr/ppm

(reg_asym_dsl/ppm+reg_asym_dsr/ppm)/2 {ok_cut}

reg_asym_dsl/ppm:reg_asym_dsr/ppm {ok_cut}

39.74 /42

-1.724 + 2.063

0.001397 =+ 0.006231

L

htemp

Entries 26455

Mean -0.4225

Std Dev  251.3

|I IlJI

-1000

—EDD

5DD 1000

200

-200

-400

1000

500

-1500 -1000 -500 0 500 1000 1500

(reg_asym_dsl/ppm+reg_asym_dsrippm)/2:Entry$ {ok_cut)

I }a’

-500-
i xxgs H%x 8 x% N i %gﬁ gggix
B e MX H g
-1000— H
_IIII|IIII|IIII| | I|II | I|III
0 5000 10000 1500 25000 3 35000



reg asym usl/ppm:AqDS/ppm {ok cut}

4000
3000
2000
1000
o
~1000
~2000—
_BDDD:_| | | | | |
500 400 200 0 200 400 600
AgDS/ppm
reg _asym usl/ppm:AgDS/ppm {ok cut}
x? / ndf 33.47 / 45
i p0 19.49 £+ 5.01
1000
i p1 —0.06954 + 0.03714
500
)| sl |
i i e’
500~ -
1000 k
_|III|III|III|III|III|III|I
600 400 -200 O 200 400 600

1500

1000

500

-500

-1000

-1500

400

300

200

100

-100

—-200

-300

-400

-600

reg asym dsl/ppm:AqDS/ppm {ok_cut}

-600

-400 -200

200 400 600

AgDS/ppm

reg asym dsl/ppm:AgDS/ppm {ok cut}

%2 | ndf
p0

p1

52.36 /45
-1.932 £ 2.064

—-0.009351+£0.015186

rT1r1r171r1rr77177y 1117y rr1rryrTrTTrT Ty T T T T T TT T T TTTTT T
| | I I | | | | |
1
—_—

b

-400 200

run6359 _000_main_vs_AqDS_ratecheck reg_ postpan.png

200 400 600

4000

3000

2000

1000

-]

é_jllllllI|IIII|IIII|IIII|IIII|IIII|IIII|II

—-1000

-2000

-3000

600

400

200

-200

-400

-600

-800

—-1000

-1200

-1400

2

reg asym ust/ppm:AgDS/ppm {ok cut}

reg_asym_usr/ppm:AgDS/ppm {ok cut}

I_llII|III|III|III|III|III|III|III|III|III|I

!

M
}

0 200 400 600
AgDS/ppm
v2 [ ndf 58.02 / 45
p0 -11.19 + 5.03
P 0.001679 + 0.037191

it

}[ }-f-- .

oL

AL

200 400 600

1500

1000

500

-

éjI|IIII|IIII|IIII|IIII|IIII|IIII|I

-500

—-1000

—1500

300

200

100

-100

-200

-300

-400

-500

ST

reg asym dsr/ppm:AgDS/ppm {ok cut}

200 400 600
AgDS/ppm

reg_asym_dsr/ppm:AqDS/ppm {ok cut}

%2/ ndf
p0
pl

55.16/45
0.1691+ 2.3898
0.01335 +0.01755

LT

=

o

200 400 600




reg_asym usl/ppm:AqUS/ppm {ok cut}

4000
3000
2000
1000
o
~1000
-2000F
_BDDD:_| | | | | | |
500 400 200 0 200 400 600
AqUS/ppm
reg_asym usl/ppm:AqUS/ppm {ok cut}
2 [ ndf
2000 e/ nd 43.93 / 44
i PO 21.43 +5.01
1500~ pi -0.06202 + 0.03608
1000
500
: { + { I
D__ '+++'i' -I-: -!-||'!' H
- |t
500~ }
:Il_llllllllllllllI|III|II_I|I
600 —400 -200 O 200 400 600

1500

1000

500

-500

-1000

-1500

400

200

—-200

-400

reg_asym dsl/ppm:AqUS/ppm {ok_cut}

run6359 000 _main_vs AqUS ratecheck reg postpan.png

_l 1 1 | I | | I | | I | I | | I |
-600 400 -200 0 200 400 600
AqUS/ppm
reg _asym dsl/ppm:AgqUS/ppm {ok_cut}

x* / ndf 50.34 / 44
- p0 —1.752 + 2.063
B p1 -0.002685 + 0.014814
iy HHJJJ[%W#% ++T+H++J[{HHL}[H H
_I | 1 1 | 1 1 | 1 1 | 1 | | I | | 1 1 | ]
-600 400 200 0 200 400 600

4000

3000

2000

1000

-]

—-1000

-2000

-3000

1500

1000

500

-500

-1000

reg_asym ust/ppm:AgUS/ppm {ok cut}

:_l L1 1 | | ] | L1 1 | L1 1 | L1 1 | L1 1 |
600 -400 -200 0 200 400 600
AqUS/ppm
reg_asym usr/ppm:AqUS/ppm {ok cut}
— x? / ndf 38.44 / 44
p0 —11.51+5.02
B p1 —0.03023 + 0.03601
_I | _I | | | | | L 1 1 | | I | | 1 1 | 1 1 | |
600 -400 -200 0 200 400 600

reg asym dsr/ppm:AgqUS/ppm {ok cut}

1500 —
1000~
500 — |
= '
500
~1000
~1500{—
_l | I | | | I | | | I | | | I | | | I | | | I | |
600 400 -200 O 200 400 600
AqUS/ppm
reg_asym_dsr/ppm:AqUS/ppm {ok cut}
800 — 2/ ndf 63.08 / 44
I PO 0.4749 +2.3876
600 —
- p1 0.01703 £0.01695
400
200/
B H |Jr |Jr++| t 4 |Jr+ £||| }[ 1
200 1l ]
_4DU_I|III|III|III|II|III|III|I
600 -400 200 O 200 400 600




